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East Asia – Review Questions


1. Suppose East Asia is composed of 6 countries (China, Japan, Hong Kong, North Korea, South Korea, Taiwan) even though Hong Kong is a special administrative region of China. Subdivide these 6 countries into two groups by political/ideological system. 

2. [True/False] It is common to see mountains all over the place in Japan, Taiwan, and Korea.

3. Figure 11.8 (p. 462): Rice is a staple food in the East Asia. How do you think this fact is related to climates in East Asia? (That is, what particular characteristics of climates contribute to this?) When looking at the map, particularly which part of East Asia seems favorable for rice cultivation?

4. What is China’s rationale for constructing the massive Three Gorges Dam project?

5. [True/False] The devastating flooding in the North China Plain (located in the central-eastern coast where Huang He is flowing into Yellow Sea) is mainly attributed to high variation in rainfall. Also support your answer.

6. [True/False] In an increasingly globalized economy, it is safe to conclude that the pollution is more severe in industrialized (or developed) countries than in developing countries. Also support your answer. 

7. Table 11.1 (p. 466): Demographic transition model provide the insight into the relationship between industrialization/urbanization and demographic indicators such as birth/death rate. According to the model, highly industrialized and thus urbanized society will show low fertility pattern. Do all countries fit into the demographic transition model? Identify countries that do fit and do not. How would you explain the outliers?

Hint: Compare RNI or TFR to urbanization rate in the table

8. Table 11.1 (p. 466): What is the major demographic issue in the contemporary Japan?

9. In proportion to its population, which country imports the least amount of food?

(a) South Korea

(b) China
(c) Japan
(d) Taiwan

10. Suppose you travel from Tokyo to Osaka by a high speed train. What kind of landscape is it likely to be seen outside of the window? 

(a) Extensive rice field

(b) Urbanized area with an industrial belt

11. [True/False] Two inhabitants of China may not be able to understand each other’s speech, but they can read each other’s letters. 

12. Figure 11.29 (p. 485): Which of the following areas is the original core of Chinese civilization (dating back at least to 1800 B.C.)?

(a) Manchuria
(b) Sichuan Basin
(c) North China Plain
(d) Xinjiang

13. Central Asia is often considered as the birthplace of Indo-European people. However, the Indo-European people were later replaced by Altaic people (mostly pastoralists) around 2000 years ago. During the similar period (around 200 B.C.), the pastoral people in the north also attempted to invade the Chinese territory in East Asia. How did the Chinese respond to this? In general, did the pastoral people have a significant impact on Chinese society like in Central Asia?

14. Figure 11.31 (p. 486): [True/False] European powers were eventually expelled from China by the 1900.

15. Please discuss the geopolitical reconfiguration of East Asia after World War II. What was the major force that shaped the reconfiguration? What was the consequence (or major events)? Make sure you include the current geopolitical issues in the geopolitical framework.

Hint: division of Korea, division of China

16. For most of the second half of the twentieth century, which country was most closed to ideas and influences from the West?

(a) Japan
(b) South Korea

(c) China
(d) Taiwan

17. Industrialization in the East Asia has been achieved during such a short period of time in comparison to that of the western Europe, and U.S. What do you think the most distinct characteristic of industrialization in East Asia is in contrast to that of the West?

Hint: Remind the economic growth in South Korea, and Taiwan

18. [True/False] The Chinese economy has become more self-sufficient since the late 1970s. Also support your answer.

19. Table 11.3 (p. 498): [True/False] Literacy rate in North Korea is comparable to that of countries in Sub-Saharan Africa.

20. What has been the advantages and disadvantages of China’s one-child policy?

